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[image: image5.png]2 Study Figure 2, which shows some transport staistics for an urban area.

(@ (i) How many serious traffic accidents Figure2
e there i 19907 -
[ o w0
| § o0l T Lo |
amer) | T soflS 6o
(i) Describe and explain the correlation 2w 000 2 |
between car wmership and serons go wo 2 |
raffic acidets 3 oo 2|
& o /| o0 F |
2] o £ |
£ w0 3
0
0

To00 1 199 3000 0%
Sear

" amaris)
(6) Describe a strategy that could help reduce car use in urban areas.
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Study Figare 1, photo of a squatter scttlemen, and Figure 2, an artcle about the setlement.
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(©) () Describe the environmental effects of air polluion.
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(i) Suggest ways that air pollution can be managed.
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(@) One of the main effects of urbanisation is the generation of Large amounts of waste.
Explain why dealing with the disposal of waste is harder for poorer couniries.
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Study Figures 1.and 2. Figure 1 shows two photographs from ifferent .
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Home Work – Unit 2, People and the Planet, Living Spaces

